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7.1 Part 3 Trigonometric Identities

Example 1: Verify the identity.

(sina - tano)(cosa - cota) = (cose - 1)(sina - 1)
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Example 2: Verify the identity.

tan x + tan y
cot x + coty

K"’S*' '%Lfy_q& -
COS &SI S s 9 >
St V\xszy %: ny Sen x.
SinxCoSyt—casxsiny

X CodN

=tan x tan y

|

COSXSWV <+ Sin XSV
SiInX S‘lny

S CoEG—-EeS <SRy Sinx. Siny
cd;&cosy : éew -
fanx any = '@'\xhr\}g \/




7.1 Part 3 Trigonometric Identities (work).notebook

Example 3: Verify the 1identity.

tan v - cot v :
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Example 4: Verify the identity.
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Example 5: Verify the 1identity.
tan®x - cot’x = sec’x - csc’x
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Example 6: Verify the identity.

CSC X - sIn X = cos x cot x
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